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QUESTION 1

An administrator supports a RAP to a branch office. Employees at the branch office connect to an employee SSID that
allows for split tunneling of the employee traffic. The RAP initially connects to the corporate office controller, but later
loses connectivity to it. 

Which operating mode should the administrator configure for a secondary SSID to be advertised during the loss of
connectivity? 

A. Standard 

B. Persistent 

C. Always 

D. Backup 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 
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A company has attempted to implement OSPF without success. The devices in Area I need to be able to reach Area 2.
Routes should be aggregated for advertisement in other areas. What must be changed to meet these requirements? 

A. Change Area 3 to Area 0; remove Area 1 from Switch-2 and Area 2 from Switch-1. 

B. Add the 10.2.0.0/16 range on Swttch-1 and the 10.1.0.0/16 range on Switch-2. 

C. Add Area 1 and Area 2 on VIAN 100 on both Switch-1 and Switch-2. Remove Area 3. 

D. Move the 10.1.0.0/16 range to Area 2 on Switch-1 and the 10.2.0.0/16rangetoArea 1 onSwitch-2. 

Correct Answer: A 

 

QUESTION 3

An administrator wants to implement bandwidth limits for guest users to restrict their Internet usage. On the Mobility
Master (MM), where would the administrator define these limits? 

A. User role 

B. Firewall policy 

C. AAA policy 

D. 802.1X policy 

Correct Answer: B 

 

QUESTION 4

Refer to the exhibit. 
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When configuring a Web Login Page in ClearPass Guest, the information shown is displayed. What is the Address field
value \\'securelogin.arubanetworks.com\\' used for? 

A. for ClearPass to send a TACACS+ request to the NAD 

B. for appending to the Web Login URL, before the page name 

C. for the client to POST the user credentials to the NAD 

D. for ClearPass to send a RADIUS request to the NAD 

E. for appending to the Web Login URL, after the page name. 

Correct Answer: C 

 

QUESTION 5

Refer to the exhibit. 
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An Enforcement Profile has been created in the Policy Manager as shown. Which action will ClearPass take based on
this Enforcement Profile? 

A. ClearPass will count down 600 seconds and send a RADIUS CoA message to the user to end the user\\'s session
after this time is up. 

B. ClearPass will send the Session-Timeout attribute in the RADIUS Access-Accept packet to the NAD and the NAD will
end the user\\'s session after 600 seconds. 

C. ClearPass will count down 600 seconds and send a RADIUS CoA message to the NAD to end the user\\'s session
after this time is up. 

D. ClearPass will send the Session-Timeout attribute in the RADIUS Access-Request packet to the NAD and the NAD
will end the user\\'s session after 600 seconds. 

E. ClearPass will send the Session-Timeout attribute in the RADIUS Access-Accept packet to the User and the user\\'s
session will be terminated after 600 seconds. 

Correct Answer: B 
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